
1.8×10 10

(4×10
2)×(3×10

−3)

6×
10

8

3 th
ous

and
ths

one
tenth

Find the sum of

6×10 2
and 6×10 2

Findthesumof

6×10
3and6×10

2

5.
4×

10
3

half
a m

illi
on

3
m
illion

0.8
×10

2

8×
10
−
1

(3×10 −2
)÷(5×10 −8

)

60thousand
7.
98
×
10

5

2.5
×10

5

0.25

5×10 5

th
re
e
qu

ar
te
rs

of
a
m
il
lio

n

More resources from www.mathssite.com



1.2×10 0

1.2×10
−5

6.
6×

10
3

80×
10

2

3×
10
−
3

25

250

F
in
d
th
e
di
ff
er
en
ce

be
tw
ee
n

6×
10

3
an
d
6×

10
2

1×1
0−1

The
spe

ed
of l

igh
t is

app
rox

ima
tely

3×1
0
8 me

tres
per

sec
ond

.

Ho
w far

can
it tr

ave
l in

5 s
eco

nds
?

7.5×
10

5

1.2
×105

(4×
10
−3 )×(

3×1
0
−3 )

8×
10

1

2.5×10 −2

2.
5×

10
6

2.5
×10

−1

2.5×
10

2

2 and a half million 3
hu

nd
re
d
th
ou

sa
nd

More resources from www.mathssite.com



1.5×10 9

(3×10
6)÷(5×10

−3)

6×
10

5

2.5
×10

1

2.5×
10

0

800×10 −5 0.
00

8×
10

2

8×1
0−3

The
spe

ed
of l

igh
t is

app
rox

ima
tely

3×1
0
8 me

tres
per

sec
ond

.

Ho
w far

can
it tr

ave
l in

a m
inu

te?

8×
10

3

3×1
06

a=
8×1

0
5 and

b=
2×1

0
3

Wh
at i

s th
e d

iffe
ren

ce
bet

wee
n a

and
b?

3×
10

5

250 000

0.025
a
=
8×

10
5
an
d

b
=
2×

10
3

H
ow

m
an

y
ti
m
es

bi
gg

er
is
a
th
an

b?

1.2
×103

4×1
0
2

(3×
10

2)÷
(5×

10
−
3)

2.5

(4×10
6)×(3×10

−2)

More resources from www.mathssite.com


